BFIUTILA AR (AE)
1R 2R 3R 4R
A—1fL
| M OEE 6
(7-)
2{ii Mbest4 2

(79-)

G— 11t
5 BIR EE
79-) 0

F__—l 02
4 TEE BT 3
GN=v19)

2{iL Mbest1
. WA BE
HhbvA) 6

D14 B
o EH i N
(KRY-) 1 @4-)

c—if
) B8 R . "

7 FBen) R
WA fhE

2{iL MDbest3 0 HBvA)
g FHE U 6
(ILyYa)

E—11% 3
o KB #t
(ZZEHBHIT0) 2

H—14z 6
10 ZE # 0
B A)

2{3L MDbest2
|y B R
(7-) 6

B—14I
12 5 EF ]
(FHERAVNTTC) 1




TFIOVTILA ARk (KE)

A—1{ 1R
WE Ea 3
"o BH e xm
(SA)
B—1{iL
2 Fi 2T

(SA) 6



BFIVITILR HE(FE)

A—11i 1R 2R

FE F 3
29-)

B—2{I
hES & B Al =
(INE=H'=1) 6 (EDETC)

A—21{1
EH R/E 1 . "
=5 S s

FER &

B—14I 6 (INF=K"—1)
EE =D
(BHETC) 6




10

11

12

13

14

15

16

BIFL T ILA B (KE)

A—1fi 1R 2R 3R 4R
Rk EE 6

(7Y-)

B—14t

AL AOth
(BIEA) 5

A—2{1
[REA BR 6
(THT7 =)

C—1fx 2
alE REB
(TH77 =) 4

D-E—1{iL
FE EX 6
(FERPER)

F-G—21I
HE B
(Naslice) 4

D-E—2{i 6
KE = 5
(F-LTEIKAK)

F-G—14i 2 B JNIE HE
=n & (FB/ETZR977)
(TH9771-) 6

H-14zL

"R & 3
(7'-)
6 R TR EX
I— 141 (FRPER)
BRE JE
(FLw¥a) 6

J—14L
BRE =t 6
(IMPACT)

K—14L 1
MR H—
(2-) 4

L—11
hff IER 3
(71-)

M—11Z
B\ ImE
(F/ETZ2977) 6

N—14L 6
KT B— 4
(FH77 =)

O—11i 0
BHE #a

(Come on 1) 6




TFIUT LA Bk (FRE)

A—14L
DR i
FH77° =)

2{iibest1
BH FRT
(butterfly effect)

C—11{i
B/l BX

(Come on!)
B—1{i
®EE 51
7Y-)

1R 2R
6

1
5
6

6

B

R

#lL BX

(Come on!)

B g
7977 1)



BFIUTLR A(FR)

A7°BvY)
14 HEF
79-)
2 BE #7
7Y-)
4 EF Eth
7Y-)

B7'0y)

5 %8 EE
(FHRAVNTTC)

6 P N
7-)

7 WA R
=)

85E &
(Iby¥a)

c7'ay)
9 Bl S5k
b eh)

101 5R =8
3=

1 E#Hx o
=)

D7'Ay)
12 FE=
(ZHEM)
13 ] JEH
Fbyva)

1424 8

(KRY=)

E7'0v)

15 i I)
FLyya)

16 B BE
(T7977°1-)

17 K@t
(ZEBITO)

F7'Ry)

18 1A HEX
FHbeh)

19 f@E B
G-+9)

20 g Eth
IZD5#)

G7'ayy

21 2 BEK
(9407 Wb VERER)

22 ft At

(K&Y=)

23 BiR #EF
79-)

H7 Ay)
24 1RA (BB
b pA)

26 JbfE (B
Y-)

28 thft E4
(taLm-Y)

20 Z&E fi#
(Hbeh)

HEIEE —

LS

HAIEE —

6 6

HEIEE —

HEIEE —

HEIEE —
6

6

migr—sz | JER
2-0 1
1-1 9
8/18=0.444
0-2 3
HX?%E?L\ﬁ {44
2-0 1
1-1 9
11/18=0.611
1-1 3
8/16=0.5
0-2 4
Hw%ﬁ?lm JE L
2-0 1
0-2 3
1-1 9
10/19=0.526
mg?/@ -4
1-1 9
11/22=0.5
1-1 3
9/20=0.45
1-1 1
11/20=0.55
fo%g?/@ {44
1-1 9
11/18=0.611
0-2 3
2-0 1
Hx?%g?/_\g JEL
1-1 9
11/22=0.5
1-1 1
11/21=0.524
1-1 3
10/21=0.476
Hx%E?A$ 132
=T |,
8/18=0.444
0-2 3
2-0 1
HY?§E¥L\$ [[:3i2
220 | 5
547V 5-7
0-2 3
0-2 3
2-0 1
847°L_7-5




EFOUTILAA(FR)

A7°0vY HEIEE — i s | B
1% B&F 6 3 1-1 9
(butterfly effect)
2 A \F 3 0-2 3
FI77 =) 0
3 MHE ES 2-0 1
7Y-) 6 6
BIOwY HAIRE — wia s | B
4 ZFH FIH 3 1 0-2 3
(FI77°0-)
5#ME fE 5 1-1 9
(BEBY)-vT0) 6
6 H XF 2-0 1
(SA) 6 6




BFOUTILA HE(FRE)

A7'0yY HEIEE — e | VR
1 2% RE 4 6 1-1 2
By =) 10/17=0.588
2FE F 6 2-0 :
@9-) 6
47 % 4 0-2 4
(IN=51-Y) 1
58N &Z— 1-1 3
TI77°W-) 6 2 8/18=0.444
B7'0v) HEIEE — e L | VB
IHES & 4 6 1-1 2
(IVE—K'—1) ExtI2&d
THEA R2 6 2-0 1
(BOETC) 6
8HEF 1n— 6 1-1 3
(FI77°1-) 3
10 db# B 0-2 4
Hv5-) 3 3




BFUU LR B(FR)

A7°0v)
1 IWAx Seqr

(Come on!)

2 FH BR
(FH771-)

3 fE K
(W7 )yh &)

4 LB @
FE7)

5 iR EiE
-

B7'AyY
6 AR B
(7577 =)
1HEE WK
@)
8 BRIl #nth
BIH2)

c7'nyy
o I R
FH77 1)
10 BTE EB

@an=41-y)

11 NI B8F|
Hv937)

D-E7'BYY
1388 EX
(HRFER)
148 5
T=v-7-)
15 ¥1H &
HBeA)

16 =0 #th
@Y=

17 K& =
(F-LTEIKK)

F-G7'myY
18 ML B

(Naslice)

20 B fg—
=)

21 =i &
TH977 M=)

22 @F =i
@Y9-)

23 AREA EH

F-v7-)

HEIEE —
3 0

HEIEE —

HEIEE —
6 6

HEIES —
6 6

L | TG
0-2 5
2-0 9

12/17=0.706
1-1 3
0-2

4
2-0 )
12/14=0.857

wsgiﬂz B
0-2 3
1-1

2
2-0
1

W?%u;p—xi\ﬁ J[:43
1-1 1

9/16=0.563
1-1

2
11/20=0.55
1-1
3
7/18=0.389

W%ﬁ?z@ JE L
2-0 1
0-2

5
1-1 3
11/20=0.55
1-1 4
7/18=0.388
1-1 9
10/17=0.588

Hl?%»’ﬁ%A$ [
2-0 2
12/21=0.57
0-2

4
2-0 1
12/20=0.6
1-1 3
0-2 5

H7'myY)

24 AR 4R
o)

25 BRgE [RIE
29-)

26 TR &
(7))

17°'0y4

27 ILK #H=
(7977 =)

28 FEA MR
(Iby¥a)

29 B —%
9=

J7°my)

30 =% FM
29-)

31 A =t
(IMPACT)

2 s HA
@9-)

K7'0y4
33 51E

(YAYTFLTC)

34 K
7))

35 5 1Z
(7Y-)

L7°ayy

%6 W %
29)-)

3 BE ER
@)=

38 &HF —#
7Y-)

M7°By4

39 b 1&
79-)

40 Bk 1E—ER
79-)

41 JI|A ERE
(F/ET=2977)

N7'0y%)

42 Kt BB—
77 =)

43 FH f—
@Y=

44 EE RE
=)

07°myY
45 15E #Ha
(Come on!)
46 R A0
(R491-)

47 E¥ ZKX
@)=

HEIEE —

HEIEE —
5

6

4

HEIEE —
3

3

6

HEIEE —

0

HEIEE —
6

0

»

o

W?%E%L\E JEfL
0-2 3
1-1 9
2-0 ]

H&z@”‘ﬁ?/.@ JE AL
0-2 3
2-0

1
1-1 9

mu%ga\g [[[:tivd

1-1

2
2-0

1
0-2 3

W?%§§A$ [:iv

1-1

2
2-0 ]
0-2 3

Hﬂ%g?Aﬁ [[:¥v
1-1 9
2-0 1
0-2 3

HE?%E%L\E [[:0
1-1 9
0-2

3
2-0 1

W?%§§A$ JE AL
2-0 1
1-1 9
0-2 3

Hﬂ@rﬁ%/.@ [:v
2-0 ]
1-1 9
0-2 3




KFOUTNAB(FR)

A7° vy
1B AT
FH77 M=)
2 #hH BE
(79-)
3EM TEF
(butterfly effect)

4 /A
(7977 1-)

B7'AyY
5 B AAF
79-)
6 £k EF
79-)
7 B8 KRERE
(F977° =)

c7ovy
8 Bt HEF
FH77 M=)
9 KiI U+
(79-)
10 BiL B

(Come on!)

[

HEIEE —
6 1
3

1
6
6

HEIEE —

0 6
5

6
1 4

HEIEE —
6 1

5
3

WGy —LE JIE £z

1-1 3
7/16=0.437

0-2 4

- 2

7/14=0.5

2 1
HR%%T%?.L\ﬁ JIE £z

1-1 9
6/16=0.375

2-0 1

0-2 3
Hiigﬁ?ixﬁ JIE £z

1-1 5
7/16=0.437

0-2 3

2-0 1

2 MDbest1




